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Multiple Choice (6 KU)
For questions 1 to 6, select the best answer. Write the letter of your choice in the provided blank space.

1. 19 Three points are shown at the right. Between which two points can you
draw a line with a negative slope?
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2. b Find the slope of a line that passes through the points (—10, 4) and (5, —-2). w iy
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3. d I/ Use first differences to determine which relation at the right is linear. A B
For ith A and B x | ¥ x | ¥
=5 | —15 g 1
(2) Only 4. (b) Only B. Ax 1s constant” T 0 T3
' BUT Ay isnat. [ 4[5
(¢c) Both 4 and B. Neither 1 ) 3 | 7
4. C / Which equation represents a partial variation?
(@ y=-x"+1 non-|inepe (®) y=-3x direct @ y=-3x+1 (d) none of these
5. _C \/ Which of the following graphs represents a partial variation?
(a) , (b) , @ , (d) none of these
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6. C{ A line passes through the point (=6, —3) and has a slope of EJEch point is on the same line?
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Full Solutions

Write complete solutions for each of the following problems.

7. Consider the graph given at the right. (5 KU)
(a) Calculate the slope
mwm = YQ ~\/I

(b) Determine the y-intercept (i.e. the (4
vertical intercept) 2+

52'2 (;vowm %\
2 G Y

Slope must boe

(c) Write an equation for the relation.

Y=mx+b (s the
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1S an eq,uor\'lon ot Hus velahion

negative

8. Consider the relation shown at the right in table form. (6 APP)

(a) Represent the relation graphically.
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(b) Describe the relation using an equation. 1 3
m=2 12 -2 _ 2 p=| 0 1
Ax " o-(-1) ’

- - 1 -1

Sy =-RAx+| 1S an eq,m"c/»
. - 2 -3
For this relution 4 5 .

(c) Describe the relation in words.
(Translate your equation into English.)

The y-w-odinife is one

bun the .,
:‘z:. o:di:a'\c mulﬁp‘led

by -2. v/

Sergeant Nolfi
has instructed me
to punish anyone
who gets this
question wrong!

9. Saaya and Naxi have two different cell phone plans. Saaya pays a base fee of $15 plus $0.20 per minute of airtime
used. Naxi, on the other hand, pays no base fee but must pay $0.40 per minute of airtime used. (8 APP)

(a) Complete the following table.

(b) Use the following grid to graph the cell phone cost for

- - both Saaya and Naxi.
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(c) Write an equation for cell phone co

S:' Ooat'rl

Saaya:

for both Saaya and Naxi.

Naxi: M: Ool'l't

el



10. Navneesh and Aran rode their bicycles home from school. -
Aran left immediately after school while Navneesh stayed for 45000 Navneesh’s /

a few minutes to finish the argument she was having with - Tt00 Ride

Uday. The graphs at the right show how distance varies with

time for each of the students. (7 TIPS) - 12000
(a) What is each student’s speed? Show your calculations. E - 10500
Aran Navneesh E -
m
speed = s lope Sipeed = slope 5 |
= £000-0 /’ = Go0-0 A/ O ¢
25-0 a5-10

= 240 m/min = 400 M/mir..//

(0)0) 5 1 15 2[] 25 3[] 35 tl[] 45 5[]

Time (min)
(b) How long did Navneesh stay after school? (c) Who arrived home first? Explain
She stayed for 10 minutes. Aran arrived hone First because

W ’ her gr aph ends at 4D minules
Ve o b, e STV wnic Naweshs contiues
while Aran's starts ot 0. 40 50 minates .

(d) Assuming that Navneesh and Aran followed exactly the sarne route h(:?,t what time did Navneesh pass

Aran? S}‘Q msSed Afa)\ M‘" Rg mlﬂ“ CS
This is whe I3 rquv\ crosses )470”5
(rkgan'fnw ::{_Naw:&csh mamuks Navneesh cover! a
greaJer | di ;{Tmce )

11. Ayesha can run the length of the school field in 10 s. Vyshna T P s T D e i e
takes twice as long to run the same distance while Loveleen takes V'f| C'.;‘:-{
only 7.5's. (8 TIPS)

2 M~

QREQJUH.C{L?JZ QS)MMIJN )

Qe+ \z..ove.leew Cota Y 60 ™ sn )
(a) No scale has been provided for the vertical axis. Include a o~ ? v AP ‘—:;,, -ﬁf«, o ,ni_’r:eim W, J
suitable, realistic scale for this axis. (Recall that an Oly /_b gak ;c:"»L -
rinter can run 100 m_in about 10 s.) Lengf ET) t‘ enath oF Lmelean
Ifm ld be chosen 11 sutha wey +Hhat L.ov(fleen 1 600G+ (1 9 iy 0 // y
slower than an Olymr\o spmzk 2 I % e{w § -«6 v
(b) Assuming that each student runs at a constant speed, use the g s 7
grid at the right to sketch graphs of distance versus time for
each of the runners. Label each graph clearly! 30
Y L
(c) Explain why the slope of Ayesha’s graph is twice the slope of 1 m

Vyshna’s graph.  We Knpw thet the Sloﬂ oT @ 0T
distance-time graph userynl to speed. T2 3 4 5 6 7 8 910
Swnce. Ayeshra ruvs ‘hmce as as Vyslmu)/ ‘

the slop e of hgr? y be.

twice that
(d) How does the slope of Loveleen’s graph compare to the slope of Ayesha’s graph? Explain.

slpe of As}msgmph -‘,’o—-g—b (speed = 6 m[s }‘/

Slo'ae of Loutle(y,s 3ra|a 56_;:% 8 (Wd Em s)

i Therehrre, the sloy e of Lovelecn's 5rapl« is -‘L Lints that of A/dﬂ
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